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Consider the following statements with

respect to Pulitzer Prizes :

1. The Pulitzer Prize Gold Medal is
awarded each year to the American
newspaper that wins the Public
Service category.

2. The Pulitzer Prize Gold Medal is
never awarded to an individual.

3. Jhumpa Lahiri won the Pulitzer Prize
in the year 2000 for her first book;
a short story collection called The
Interpreter of Maladies.

Which of the statements given above

isfare correct ?

(a) 1, 2 and 3

(b) 1 only

(c) 2 and 3 only

(d) 1 and 3 only

Which one of the following is correct with
respect to Pawan Hans 7

(a) Itis a fighter aircraft operational with
the Indian Air Force

(b) It is India’s one of the leading
helicopter service provider

(¢) It is a wind energy plant located in
Himachal Pradesh

(d) It is a mountain peak situated at the
Kargil region

Consider the following statements about
Nuclear Suppliers Group (NSG) :

1. The NSG guidelines are implemented
by each participating government in
accordance with its national laws.

2. The NSG guidelines facilitate the
development of nuclear trade.

3. South Africa is the only country from
Africa in the NSG

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 and 3 only
{c) 1,2 and 3
(d) 1 and 2 only

2
]

Which of the following statements is/are
not correct about the historic Stilwell
road ?

]. It connects India and Myanmar
through Arunachal Pradesh.

2. It was built by the Japanese during
the World War II.

3. The road lies in the lands of three
different countries—China, Myanmar
and India.

Select the answer using the code given

below :

(a) 1 and 2
(b) 2 only

(c) 1 and 3
(d) 2 and 3

Consider the following paragraph :

With origins shrouded in mystery, the
dancers of this classical form of dance of
India communicate inner emotions and
themes through cadences of body flexions,
movements and kinetic suggestions. Three
styles of this form of dance exist,
originating from the three different regions
of Seraikela (Jharkhand), Purulia (West
Bengal), and Mayurbhanj (Orissa). Martial
movements, strong rhythmic statements
and dynamic use of space are characteristic
of this. dance form. The dance is an
excellent culmination of enormous vitality
and virility. As it is difficult to dance for
long with a mask, the dance does not last
more than 7—10 minutes.

The above paragraph may be attributed to
which one of the following dance form ?

(a) Jatra
(b) Chhau
(¢) Garba

(d) Cheraw
(Contd.)
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(Contd.)
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Which one of the following is not a
function of Reserve Bank of India ?

(a)
(b)
(c)
(d)

Consider the following paragraph about

Banker to the government
Keeping foreign exchange reserve
Issuing of one rupee coin and note

Regulating credit in the country

a famous autobiographical narrative :

It was first published in 1995 when the
author was elected the first African-
American President of the Harvard Law
Review, the law journal. It tells the story
of the life of the author up to his entry in
the Harvard Law Review. The author’s
parents separated when he was two years
old. In that book he formed an image of
his absent father from the stories told by
his mother and her parents.

Who is the author of the memoir ?

{a) Nelson Mandela

(b) Martin Luther King

(c) Benjamin Banneker

(d) Barak Hussain Obama

Which one of the following is the correct
chronological order of holding of the Grand
Slam tennis tournaments every year ?

(a) US Open—French Open—Australian
Open—Wimbledon

(b) Australian Open—French Open—
Wimbledon—US Open

(¢) French Open—Australian Open—US
Open—Wimbledon

(d) Wimbledon—French Open—US

Open—Australian Open

4
[+]

10.

Which one of the following statements about
Dr. Manmohan Singh is net correct ?

(a) Dr. Manmohan Singh is the first
Indian Prime Minister to return to
power after completing a full five-
year term.

He was the Union Minister of Finance
during the tenure of then-Prime
Minister P.V. Narasimha Rao.

He was the Governor of Reserve Bank
of India and thereafter the Deputy
Chairman of Planning Commission.
From 1998 to 2004, he was the Leader
of the Opposition in the Rajya Sabha.

(b)

()

(d)

Match List-1 (Chairperson of the Working
Group constituted by the Planning
Commission in the context of formulation
of the Eleventh Five Year Plan) with
List-II (Working Group on) and select the
correct answer using the code given below
the lists :

List-1 List-1I
(Chairperson} (Working Group on)
A. Prof. DL. Seth 1. Empowerment
of Scheduled
Castes
B. Prof. S.K. Thorat 2. Empowerment

of Minorities
C. Shn S. Sankaran 3. Empowerment
of the other
backward classes
4. Empowerment

of Scheduled

Tribes

Code :

A B C
(a 4 3 2
() 1 4 3
(¢c) 3 1 4
d 3 2 4

(Contd.)
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6.
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(b) faeh gor Red <@

c) T T & Fd 3 Al w1 ffw
(d) 2m ¥ w3 1 P

| U GG A URHS e & fawg #

fFreafafea =t X fEr AR

g el AR 1995 ® ywRr@ R
gl o9 d@Eh, A T, s Al Reg &
g Ihi-3mfat sene Fraffem gam
9Tl Y8 JEF B gHEs o e F I qF
F T @ FEA IO 21 dEs B
-, 99 3@ @ A F7 oar, sdw A
™ % 39 gEF ¥ 93 A I IED
ar-fHa & g gAarR e sl $
IR X FaRe e A gl s

g Sfigagy B dEd A 8 7

(a) AT "I
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(c) S ST
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wy 2w gAfAem § sl w1 FE

HATHA B P

(8) T W AH—RT AT for
g —Rsas
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(¢) BT AT omT AMT\—7g TR

i MoA—faedsT
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L AR 3w

10.

31 AHET e & fawm ¥ frefafee &

¥ AT CF FUT WG dET & 7

(a) ST AHET ¥ ura asf & ugrafy
f # qud Fxm A e’ I g8
AT garHEA B

(b) 3 A garAREAT ot fA AT
@ P wEeE § P G o= @
2

) 3 widy fgd &% & WA @
IaF TIEE, DI H JUTHEA
@ B

(d) 1998 & 2004 TF T TEU-FTF H
o & 3@ w '

g1 (edt deuadfy D9 @ w9 F
gHEO H PAA-FRT g e w1 wE
F1 semer) H G-I (R wge F1 fAwm)
T gafaa Mg 3 g # A ke g
FT H T FL WE IO gMAQ

-1 g1l
(37E7%) (@ G 7T 79
A W iwa ¥ 1. Fglud sfad
FT AT
B. U wW®. OOq 2. IcTEEdR @
YA TOT
C. = @ wewwm 3. I W Tt
FT WIS
4. IR S
F GIERIH
E A
A B C
(@ 4 3 2
b 1 4 3
¢ 3 1 4
d 3 2 4
(Contd.)
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11.

12.

Consider the following statements about
Employees’ State Insurance (ESI) Act,
1648 :

1. The Act is applicable to non-seasonal
factories using power and employing
20 or more persons.

2. The ESI Scheme has already been
implemented in different areas in all
the States/Union Territories of India.

3. ESI Scheme being contributory in
nature, all the employees in the
factories or establishments to which
the Act applies shall be insured.

Which of the statements given above are

correct 7

(a)
(b) 1 and 3 only
(¢c) 2 and 3 only
(d) 1,2 and 3

1 and 2 only

From the paragraph given below identify
the temple referred to :

Situated on the serene surrounding on the
bank of river Mahanadi, this temple is
one of the wonders of the medieval period
and draws attention of several devotees,
tourists, and researchers from all around
the world. The temple does not stand
upright and is tilted towards one side.
Another attraction of the temple is Kudo
fish for which special offerings are made.

(a)
(b)
©
CY

Muktesvara temple
Huma temple

Cuttack chandi temple
Lingaraj temple

6

13. Consider the following statements with

14.

respect to recent developments in

infrastructure sector in India :

1. India Infrastructure Finance Company
Limited was set up as a banking
company for providing long-term
loans for financing infrastructure
projects.

2. 100 per cent Foreign Direct
Investment under automatic route is
permitted for all infrastructure
projects.

Which of the statements given above

is/are correct ?

(a)

(b) 2 only

{c) Both 1 and 2

{d) Neither 1 nor 2

1 only

-Which of the following statements about

‘Ujjawala’, a comprehensive scheme for
the prevention of trafficking, rescue and
rehabilitation of women and child victims
is not correct 7

(a) It consists of certain mechanisms for
the reintegration and repatriation of
victims including cross border
victims

(b) This scheme is being implemented

by various non governmental

organizations to provide direct aid

and benefit to victims of trafficking
The scheme has four components,
viz., Prevention, Rescue, Rehabilitation
and Repatriation

{(d) The scheme is designed to liberate
victims of commercial sexual

exploitation

(Contd.)
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11.

12.

FHarT Tww & (ESD afafram 1948 &

fur ¥ Frafefaa a1 9t AR Ak

1. @ afufrm 37 STt dwefar

IR ar] g 2 A R &1 3w

a2 wd 20 W s =ik P

g

ESI 9T wsct € B wRg @ @+fl

' odi/de T A B RRe el

' 4 wmifeag #1 TS B

‘3. ESITmET ® stverh wET ¥ A1 B

i FROT 39 HFeidl g ®mERn H,

' R w7z sfufrea anp di @, @
FAafe B S B 9w

Sude FuAa] # FA] Gdt 7

(@ ¥ 19 2

(b) dad | X 3

(¢) FacT 2 3T 3

(d) 1,2 30T 3

freafafaa sm=ae & Mfdse afex =
LRI E L

TEHEH T P T B ARG qEReT H
e, a8 Afex FousRiT angaal ¥ ¥ &
g, M O R ¥ #3 HASaHA, wen

T wirepats 1 s wxar 21w W
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7

]
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(b)

()

(d)

(Contd.)
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15.

16.

Consider the following paragraph on Indian
painting :

Women are mainly engaged in the creation
of these paintings. These paintings do not
depict mythological characters or images
of deities, but depict social life. Images
of human beings and animals, along with
scenes from daily life are created in a
loose rhythmic pattern. Painted white on
mud walls, they are pretty close to pre-
historic cave paintings in execution and
usually depict scenes of human figures
engaged in activities like hunting, dancing,
sowing and harvesting. Stylistically, they
can be recognized by the fact that they

are painted on an austere mud base using:

one color, white, with occasional dots in
red and yellow. This colour is obtained
from grounding rice into white powder.
The paragraph given above characterizes
which one of the following folk and art
form of India ?

(a) Tanjore art

(b) Madhubani painting

(c} Warli folk painting

(d) Pattachitra painting

Match List-1 with List-II and select the

correct answer using the code given below
the lists :

List-1 List-1I

(Defence Term) (Explanation)

A. Arsenal 1. An aenal duel bet-
ween two or more
aircrafts at a close
range

B. Battery 2. Compulsory recruit-

ment of personnel

for service in the
armed force

A unit of number
of artillery guns,
mobile or fixed

Place where arms

and ammunition
are manufactured

C. Conscription 3.

D. Dogfight 4.

and stored
Code :
A B C D
a) 1 2 3 4
§b§ 4 3 2 1
c) 1 3 2 4
d 4 2 3 1

8

17.

18.

19.

Ratan Thyiam, the famous personality from
Manipur, is known for his work in the
field of :

(a) Sports

(b) Music

(¢} Theatre

(d) Social reform

Consider the following paragraph and
identify with the help of the code given
below the dance technique referred to in
the paragraph :

Originally known as the “backslide” or
“walking on your toes™ is a dance technique
that presents the illusion of the dancer
being pulled backwards while attempting
to walk forward. A break dancing move,
it became popular around the world after
Michael Jackson executed it during a
performance in 1983. It subsequently
became his signature move, and is now
one of the best-known dance techniques
in the world.

Code :

(a) Vaganova
(b) Cecchetti
(¢) Moonwalk
(d) Jazz

Which one of the following statements

about BRIC is not correct ?

(a) In the year 2009 the leaders of the
BRIC countries held their first summit
in Yekaterinburg

(b) According to Goldman Sachs, the
global investment banking and
securities firm, the economic potential
of BRIC is such that they may become
among the four most dominant
economies by the year 2050

(c) BRIC countries suggests for the Doha
round to be accelerated in order to
find compromise solutions for radical
reductions for multibillion dollar
subsidies in the agricultural sector

(d) Brazil, Russia, India and Canada are
the members of BRIC

(Contd.)
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I6.
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9 (Contd.)
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20.

21.

22.

Which among the following was given
the gold medal in the National Award for
e-Governance, 2008-09 in the innovative
usage of technology in e-Governance
category ?

(a) “Jaankari”, Government of Bihar,
DAR & PG, Patna

“E-CITY” Ahmedabad Municipal
Corporation, e-Governance Department,
Ahmedabad, Gujarat

“Sujala Watershed Project”, Govern-
ment of Karnataka, Watershed
Development Department, Bangaluru
“Fire Alert and Messaging System”,
Government of Madhya Pradesh,
Forest Department, Bhopal

(b)

(c)

(d)

There are 12 major ports in India and
Port Trust Boards have been setup for the
administration, control and management
of 11 of these 12 ports. Which one of the
following major ports has been
incorporated as a company under the Indian
Companies Act, 1956 and not administered
by a Port Trust Board ?

(a) Haldia

(b) Paradip

{c} Ennore

(d) Kandla

Consider the following statements :

1. According to [FC/World Bank Doing
Business Report, 2009 India is the
most difficult country to enforce
contracts in a court or otherwise,

2. According to the UNIDQO Report,
2009 in the Competitive Industrial
Performance Index India is ahead of
China,

Which of the statements given above

is/are correct ?

(a) 1 only

(b) 2 only

(¢) Both 1 and 2

(d) Neither 1 nor 2

10

23.

24.

25.

Which one of the following statements
about Sukhoi-30MKI fighter aircraft is not
correct ?

{a) It is a twin cockpit multi-role all-
weather fighter aircraft

(b)
(c)

It has air-to-air refuelling capability

The aircraft being manufactured by
Hindustan Aeronautics Limited
(Nasik)

{d) Pune is the latest base for these most
potent combat aircraft of the Indian
Air Force

Consider the following paragraph and using
the code given below identify the state
referred to in the paragraph :

The state has huge potential in carbon
trading, thanks to its vast forest reserve.
Nearly 88 per cent area of the state is
covered by forest, against the national
average of 33 per cent. In the North-East
India, this is the first state to take initiative
in carbon trading.

Code :

(a) Manipur

(b) Arunachal Pradesh
(¢) Mizoram

(d) Nagaland

Which among the following countries is
ranked 1* in the Global Peace Index,
2009 ?

(a)
(b)
()
()

Denmark
Norway
New Zealand

Austria

(Contd.)
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20. Frefafed & & feest, 2008-09 A
e Hife F N & Tagadaig
IEM ¥ e-mgA g & fog AvAA @ ®
wui-yg% ygH fewr mam ?

(@) “wrFEr”, e a3, DAR & PG,

_ qTAT

, (b) “E-CITY” SEHTIEIG F7X e,

| e-Tad -9 ¥, FeweElE, I

L (c) g IA-GHT (ITEX 9 uiEeET,
FATEH TR, To-g9X A fawm,
- STE

(d) “affq JaEd @ dew Yo qeA”

. (PR e wrs ARRim Rrew), 7w
gou GLEHTE, a4 B, W9

21, Wd ¥ 12 7@ gow € S 3 12 I
T Q11 yomwa, H=e gur gwuT
fore 91 Tee @9 wfdm g M #
- Frefafes @ F9-w1 ™ ygE 9o
arey Fwue) T 1956 & sl ey
® w7 § i B mr @ R 91T e
@ g gentga T8 8§ ?

(a) Bleawn
(b) TN
(c) THAR

(d) s

22. frefifag saf X fER FIfRE .

1. IFC/ass 3% 337 Reaw RaE, 2009
P FIOR ARG fHEl FgwwEm A owf
Fem g@fed wakta #¢1 & [l
SEHPENCAC SO LI

2. UNIDO RAIE 2009 F sraw, giant
ﬁ?ﬁ%ﬁmﬂwﬁww
¥ oamt B

w@aﬁﬁﬂ%ﬁﬁﬁam/ﬁmmﬁﬁ

g8/8 ?

(a) dad 1

(b) Faa 2

(c) 130X 2 4%

(dy T @ 1 3T T & 2

11

23.

24,

25.

ged-30MKI §E& agaa & fam A
Prafafee & & av9-mr w9 @ TE

2 7?

(a) U8 TF I Flbfie ag-qfFF ad-aH
e agaE 8

(b) T@H g1 § TAT A YA TgH A W
qdT 2

(c) 8 arga frgmr wRAfew fds
(i) gra fififa B s @1 8

(d) IO, 9RAT arg T F T gAlHS
Tl ggs agarEl w1 oAdEad
99 2

Freafafem sm=os Tt R #fm o

R Ru @ HT &1 F@m F ARERT H

faffse T F1 T
W U o U AT gEawga 9=

fod 811 & FO hEA R @ fEFend

gorere 81 33 giked B ey sfEd @

T, T O HT AN 88 e &

FATeRIfid B | @Y R § $ET R

¥ ugd HIA AT FE 951 T9D 8 |

7T -

() AT

(b) IEUTEA G

(c) TereH

(d) ATTHE

Freafafaa § 4 #19-§ 3@} ed 99

I gadE, 2009 H 9uH W U

fFm 8 2

(a) STHEER

(b)y H

(c) =qefcts

(d)y sz

(Contd.)
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26. Consider the following statements about

27.

28.

Ustad Ali Akbar Khan, who died in June,
2009 :

1. He was a Sarod maestro.

2.  He belonged to the Maihar Gharana
of classical Hindustani music.

Which of the statements given above is/
are correct ?

(a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

Which one of the following is the theme
for International Day for Biodiversity in
the year 2009 ?

(a)
(b)

Biodiversity and Poverty Alleviation
Biodiversity : Food, Water and Health
for All

Biodiversity and Climate Change

()
(d)

Biodiversity and Invasive Alien
Species

Match List-1 with List-II and select the
correct answer using the code given below
the lists :

List-1 List-11
(Phone Brand) (Brand Slogan)
A. Nokia 1. Be inspired

2. Next is what ?
3. Connecting people
4. Ideas for life

B. Samsung
C. Panasonic
D. Siemen’s

Code :

A B C D
@ 3 4 2 1
®» 1 2 4 3
(c) 3 2 4 1
@1 4 2 3

12

29.

30.

31.

Consider the following paragraph and
identify with the code given below the
town with which the paragraph is

associated :

It is basically a traditional centre for cotton.
The town accounts for the bulk of India’s
cotton knitwear exports to all over the
world. The Noyyal river runs all across
the town, virtually dividing it into two
halves.

Code :

(a) Guntur {Andhra Pradesh)

(b) Tirupur (Tamil Nadu)

(c) Erode (Tamil Nadu)

(d) Subarnpur (Orissa)
Who is Richard Halbrooke ?
(a) Producer and Director of Hollywood
movies

(b)

US special envoy on Afghanistan and
Pakistan

US ambassador to India

()
(d) UN observer for oversecing the
rehabilitation process of displaced

Tamils in Sri Lanka

Which one of the following statements
about Nandan Nilekani is nof correct ?
(a) He is the co-founder of Infosys
Technologies Limited

He wrote a book, titled “Imagining
India” in which he passionately called
for governmental and cultural reforms

(b)

Recently he is appointed as the
Member of the Planning Commission
of India

(c)

He is given the rank of Cabinet
Minister in July, 2009

(d)

(Contd.)

NDI-NATIONAL DEFENCE INSTITUTE



https://www.nationaldefenceinstitute.in/

26. 99 2009 ¥ Rad @R FA IFIR TH P

By A Pl w2t w R Ff

1. ¥ 93 §fes &

2. 9% wdy s Rgwrh gfe @
FeT FUAT & o)

SugE A H A /A wUT G8

/8 ?

(a) aad 1

(b) Fad 2

(c) 130T 2 Al

(d F a1 3 T2

. Freafafas ¥ & Fi9-@1 @, 3 2000 %

Ftem G Rftga fRew & 4@ ow

g 7?

(a) va fafrgar ik w8 SogEE

(b) 9 Rfggw . I & A w=, w9
Td e

(c) v fafdgm R SwErg wRadT

(d) v faRdoer X sFme o=y oW
(aferamr) snfeat

. AR - i sl s gt

& A& Ry 7 FE & FAT FI T I

T

- g1 qHi-1]
(1T @7 F15) (978 T FAR-I)
A, T 1. ff TaIEs
B. dugm 2. AT T ®E ?
C. Wit 3. e dhq
D. ¥Hg 4. IfTH ®R AH
< 2

A B C D
@ 3 4 2 1
1 2 4 3
c 3 2 4 1
@1 4 2 3

29. Freafafea s=8s AR #IRE @@

o RA @z A1 g 4 =S @
g T F gAY

Tg YT FUE H GEAE Peg 8 |
gueg fagg & W@ § @17 4 gl gA
I F1 fgwTe Tala 3@ A /@
g1 X 98T ¥ BT 987 Al AT TQ
RN ®Y ¥ AN B T FE AU H
faalRm +ft B

FT 2

(a) TII (3Ag yem)

(by forge (affery)

(¢) =08 (AfEEmTE)

(d) FEAR (3IFTam)

. R=s swgE #1187

(a) eichige =afray 1 Fafa @ Hds

(b) M § wbe & fGom o
US &1 fagior g

(c) Wt ¥ US F1 Tolga

(d) =it dwr ¥ Reafa afvedl o gAaiw
ufkm 3 sftgefard UN Ya

. Aeq Ao @ g § Aatfew A @

FT @ FAT TE T & 7

(a) ¥ T Tt ffds &
vg-deaaF B

(b) s==R ‘sAfET R ofls ¥ g
gt & foq fi7 s fRn

(c) T & ¥ I 9Rd F DT FAW
1 gewg Frgea fewm mam @

(d) I8 Sa= 2009 X #RAT @A w7
gt e '

(Contd.)
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32. Consider the following statements about

33.

34.

former Australian cricketer Steve Waugh :

1. He is the author of the book “True
Colours : My Life”.

2. He is deeply influenced by the deeds
of Mother Teresa.

3. He is working for the cause of the
children afflicted by leprosy in India.

Which of the statements given above
is/are correct ?

(a) 2 and 3 only
(b) 1 only

(¢} 1 and 3 only
(d) 1,2 and 3

Which one of the following is nof a World
Heritage Site ?

(a) Kaziranga National Park

(b) Sundarbans National Park

{(¢) Kangchendzonga National Park

(d) Keoladeo National Park

Consider the following statements about

the End Use Monitoring Agreement

(EUMA) signed between USA and India

in July, 2009 :

1. It clears the way for the sale of US
military equipment to India

2. It allows the US to verify whether
India is using the weapons purchased
from USA for the stated purpose

3. It restricts India to pass on the US
military technology to any country
other than Afghanistan (till US forces
are there)

Which of the statements given above is/

are correct ?

()
(b)

1 only
1 and 2 only

(¢) 2 and 3 only
(d 1,2 and 3

35.

36.

37.

NDI-NATIONAL DEFENCE INSTITUTE

In May 2008, the Supreme Court of India

laid down six parameters to make the

police effective, accountable and insulated

from political interference and set up a

monitoring committee to ensure that states

implement police reforms. Which one of
the following is mer a directive of the
apex court in this regard ?

(a) Setting up of a state security commission
in every state to ensure that the state
government did not exercise
unwarranted influence or pressure on
the state police

{(b) Selection of state’s director general

of police would be from “amongst

the three senior most officers”

(c) Fixing a minimum tenure of five years

for police officers on operational posts

unless they face disciplinary

proceedings or were convicted in a

criminal offence

(d) Setting up a separate investigation

police force to ensure that criminal

cases are prosecuted effectively

Contamination of mustard oil has led to
several outbreaks of Epidemic Dropsy in
India. Which one of the following
contaminant is responsible for it ?

(a) Automobile oil

(b) Linseed oil

(c} Argemone oil

(d) Rapeseed oil

A farmer sows beans in his fields after
harvesting a crop of wheat. Which one of
the following agricultural practice is he
following ?

(a)
(b)
()
(d)

Multiple cropping
Crop rotation
Fallow field
Mixed cropping

(Contd.)




32. 99 Ircforms frdve feard =g afm @

33.

34.

TR ¥ i sof o REr SR
1 g wo@d ;. AR ARE [ @

2. TGS Bl § B TY R
gfag &

3. 3 IR W F-Td d=4l & oq FH
FL W@ B

I9gFT FAAT A @ HIAG/A EE)

8/8 7

(a) Fae 2 AT 3

(b) Faer 1

(c) Fad | 30T 3

(d 1,23t 3

Freaftfea & @ #t9ar o, Reg Roma
ER2w) waa =78 2 ?

(a) @I ST IAH

(b) Y=a3@T T IAH

(c) FIASM TR Iar

(d) FART T IAA

USA 3R 9Ra & #a gois 2009 ¥

eI Qs g A Wi (EUMA)

& g ¥ Preafofee wuat 9w faa

FT

1. T 9@ ¥ US &1 ITFen @
fawn =1 T gear 21

2. TE USH 78 Tcuilia &1 @ IFRf
Tar 2 & W@ USA ® R
BRART &1 FHU THSE I FT
@ 2

3. 3 Wi ® US &1 e w
FEmTwE ® fEm (99 aF 9wl
US & gma B) Bt o amg Bwr =
¥ vlesfa wxar 21

I HuAl A 9 G/} 9 B/E 7

(a) Haa 1

(by Faa | 3 2

(c) &3 2 AT 3

(d 1,23T 3
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35.

36.

37.

72 2008 W, TRa & F=9dd g I
gierd w9, IOter! R TEHifaE
BT § guE ¥ P R s e
g0 IRE gl & suitad FRA g
arfeE @il g @ # Rl o
Auefier afterfo fRay Pl & @
HET UH, TH AR W ITAqH FATEITT
free 78t 8 7

(a) W gHlRes & & R & wsa
"R 9T M W ELIC]
T TEE T S, YeUE Uy H 09
YL&AT IJW A TAIAT HCAT
T & gfem wEIRwe w1 WA
‘T aieaq sfteRal # |7 T
Eiep

gaT vel 49X gferm sfeemial =+t
=IAAH T o A gerEid w5
w9 fF 38R et el
w1 wAT A P g w TifdE s
# frg 3w 9 s M
ORI /A 1 THIE 9§ S
o a7 gifeea w33 & o gum
Ig giem @ wld F

Tl F U9 # Hguw § 9Ka # qHuRd
S (STafl) F1 AT I FHIT I 8
e R Prafefes & & =i7@ g
IaRed B 7

(a) SEHETRA oW

(b) e w1 TS

(c) sfa= o

(d) D Ruds) o

TF FOF A1 @al A g MW wEA Fred
® E AW F gamg wear 81 e
® ¥ 38 e Fie-fEfl &1 e #%
w® e Y

(a) wgFTEICHET

(b) ¥E IEdA

(c) duRmET &=

(d) Al =TT

(b)

(c)

(d)

(Contd.)




38.

39.

40.

41.

Aquatic animals breathe much faster than

terrestrial animals because of :

(a) low amount of dissolved oxygen in
water

(b) low amount of hemoglobin in their
blood

{c) high metabolic rate of aquatic animals

(d) large amount of dissolved nitrogen
in water

Which of the following is net true about
Giant Panda ?

(a) Itisalogo of WWF (Worldwide Fund
for Nature)

{(b) Giant Pandas are naturally found in
Tibet and Southwest China

(c) Giant Pandas are worst invasive
species of the world

(d) Giant Pandas feed on Bamboos

Which one of the following statements is

not correct about “Flavr Savr” tomatoes ?

(a) It is genetically engineered

{b) Its ripening process is slow

(¢) The fruit cannot be left on the plant
for a long period

(d} They have increased yield and better
flavour

Which one of the following statements is

not correct about Biosphere Reserves ?

(a) They are protected areas meant for
conservation of Biodiversity

(b) Each Biosphere reserve has three
zones

(c) There is a network of biosphere
reserves world over

(d) They were first started by IUCN
(International Union for Conservation
of Nature and Natural Resources)

42. Which one of the following chemicals is

43,

44,

an artificial sweetener prescribed to
diabetic persons ?

(a) Aspartame

(b) Glucose

(c) Sucrose

(d) Maltose

Villagers in some parts of India use the
water extract of the ash obtained by burning
banana plant as a substitute of soda. Which
one of the following is the major active
component in the extract ?

(a) Sodium Carbonate

(b) Potassium Carbonate

(c) Calcium Oxide

(d) Magnesium Oxide

Match List-I with List-II and select the

correct answer using the code given
below :

List-T
(Process)
A. Aeration followed 1.

by filtration

List-11
(Contaminant)
Removal of
colour
B. Reverse Osmosis 2. Removal of
microorganism
C. Filtration through 3. Removal of
activated carbon

D. Treatment with UV 4.

iron

Removal of

light excess salts
Code :
A B C D
(@ 3 1 4 2
) 4 3 2 1
) 3 4 1 2
2 4 1 3

(Contd.)
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38. wefw <fi, Tl NS # gern X, R

39,

40.

-

41.

FRUl ¥ It o9 Wiy od & 7

(a) 9t ¥ faefm sifeo= & &9 =TT

(b) I @ ¥ AT N F9 HET

(c) el S &1 I=a ITIE 8T

(d) ot A fFfm qmeem # dfEe
AT

T uist @ fawm ¥ Brefafea ® @

T oAY wE ? 7

(a) T8 =g S=Y, Wh (FF F g
fagaenrd f4fY) @1 ydfiw-Frga (@)
2

(b) WHT UisT yFhs &9 @ Resg X
zfaur-uftem fi9 ¥ wg W #

(c) T wisT fFwg % ¥€@ & IwHS
wify &

(d) WTEE TiET ¥ @ B

fafafes ¥ § F9-91 @& FUT “Flavr

Save” THTCN & § A wel F#F B 7

(a) T§ ATIEREd: Iehmafa 2

(b) T@H uFa whem ondt B

(c) T = WY T TF gAY qF AEl
BIST T "l

(d) SR IS Iuw o 8 q= F'ay
JTEae Bl 2

fPreafafes ® Fv9@ @ Fua v

foaf & TR & ww 98 8 7

(a) ¥ %9 RRwm & g gy g
& g

(b) was daavsd Red & @ AT 8

(¢) famavt ¥ Sgvvsa Rad & v 2

d) 3 sdgHea. (gl M gplas
qagET F GIE B AT W)
g oW SR yE [$Y T A

17

42. Frefafea wmEAl ® @ sw o, AgRE
ft (sffes) afmd & R Raor s

43,

44,

@S & o A ¥ e fq @
T 1 TEE }FOAW T P SA K
(water extract of ash) 1 @181 & g™
® T W yaw peg 2t Prefafew ® @
A & e WHG weh F OB 7

(a) @z FEie

(b) NEfirm wEiAe

(c) Hfcemw HiwqrEs

(d) ARy IEwEs

TH-19 gR-11 F ghferm g qon gy
* #Y Ry g 5z &1 7@ #T g8 I
T
-1

g1l
(FFH) (AFIF)
A. g@F qgUUd 1. 2 &1 A
IBt3Chl
B. IopH GUHIT 2. geiEg @1
forspmers
C. gf¥fm s g0 3. @ & A
Fredga
D. UVYSRl & 99 4. 3faRkas @i &
IYA IEAGAGE]
FT =
A B C D
@ 3 1 4 2
® 4 3 2 1
3 4 1 2
d 2 4 1 3
(Contd.)
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45.

46,

47.

48.

In some parts of India, consumption of
underground water causes mottled teeth
and bone damage. Which one of the
following is responsible for this malady ?

(a) Fluoride ion
(b) Chloride ion
(c)} Oxide ion

(d) Carbonate ion

Sometimes, the consumption of local made
alcoholic beverages may cause blindness
or even death. This may be because of
contamination of the beverages with :
(a) Vinegar

(b) Carbolic acid

{(c) Methyl alcohol

(d) Formic acid

Which one of the following lenses would
you prefer to use while reading very small
letters printed on a label ?

(a)
(b)
(c)
(d)
The
back with a jerk when the stationary bus

Convex lens of large focal length
Concave lens of large focal length
Convex lens of small focal length

Concave lens of small focal length

explanation of, why we get thrown

we are sitting in starts moving forward is
given by :

(a) Zeroth law of gravity

(b) Newton’s first law

(¢} Newton’s second law

{d) Newton’s third law

49,

50.

NDI-NATIONAL DEFENCE INSTITUTE

Which among the following is nof true

about the Swadeshi movement ?

(a) It had a wider popular appeal than
any other political agitation that

preceded it

(b) It enlisted the support of the Muslim

masscs

It had an economic character

(c)

(d) The Swadeshi movement was
supported by a section of the radical

press in England

Which Reformer does the following
passage relate to ?

“He insisted on the cooperation of the
Muslims with the British Government and
looked at all political movements with
distrust. Thus, when the Indian National
Congress was formed, he opposed it. He
regarded education and education alone
as the means of national progress.”
Select the correct answer using the code
given below :

(a) Keshab Chandra Sen

(b) Lord Macaulay

(c) Sir Syed Ahmad Khan

(d) Badruddin Tyabji

(Contd.)




45, AaEd F FH AT A iy 9@ F
ITHIT & <A FER AR JRg &Ry A
Jo9 B B | fmafofee ® @ v =
.mm%maﬁmﬁ%?

(a) TS A
(b) FES A
(c) HFEEE FEAA
() wEfRT A

46. &N-Ff wrg wy 9w i sk

W F ITE { sEeT W g N A
TFdt 21 UB ¥ ¥ fred dgomr & e
(BT FFa B 7
(a) e
(b) wEffes s
(c) @ TwwEd
(d) wiffe s

47. Preafafae & ¥ g @ a9 F ITm
T, Aqd 9T DY IeG-d OY AHU B GG
® §Hg, qawie & St ?

(a) ecafed wHE O F ITA A
(b) mﬁwmlqﬁmwﬁm
(c) &Y BFd T & I A
(d) 7Y FFE T T yEEd AW

48. A A & foox I I TR FEA 2,
lwﬁﬂ%@uﬁtﬁ%aﬁﬁ?:maﬁ
21 T wedlww e w7 A o e
g7
() Trowfe e fow
(b) =gz F wuH fm
(¢) “gea @1 fedw P

(@ g7 = g P

19

49. TR I} ® favw ¥ Preafafea ®

Fr-91 9eq FEF & 7

(a) T T gu R off s orifee
AT @ FUAT TEA  AUF IR
SRtcica L]

(b) /A HEOWE FA H oA G
gan

(c) we sfiEd afta #1 =

(d) =R FREw B TEHT N I
RadTardt 38 F T AW F
wegm faer ar

fre game & T PR dR=37 &
ey B 7

IR it TR st B sfvar
¥ FTEr M SR Eemm & fafew
TEA ® WY GEAW w1 H{UE 41| I
w§ wRdm T wiw w4 @ 3w
Igs fag frary 3= fienm s $aa
Rren = & wdg ywfa w1 g A=Y
¥ RY M FT F U F T ITW
f{ﬁl’ﬁ:

(a) HIE T% AT

(b)y @re APt

(c) 9T w0 IEHT @M

(d) wTeda e

50.
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51.

52.

Consider the following statements about
the press and literature in Colonial India :

1. The print media enabled the
nationalists living in different parts
of the country to exchange views with
one another.

2. The British rulers were prepared to
tolerate the nationalist criticism of
their rule.

3. The Vernacular Press Act (1878)
evoked a nationwide protest against

53.

the encroachment on freedom of -

expression.
Which of the statements given above is/
are correct ?
{(a) 1 and 3
(b) 2 and 3
(¢} 2 only
(d) 1 and 2

Consider the following statements :

1. - The Indian cities like Dacca,
Murshidabad and Surat were khown.
all over the world as centers of trade
and industry in the pre-colonial
period.

2.  Such centers of trade and industry
went down in the face of foreign
competiticn in the colonial period.

3. Indian artisans, manufacturers and
weavers were provided alternative
employment by the British Indian
government after the decline of these
centers of trade.

Which of the statements given above

is/are not correct ?7

(a) 1 and 2

(b) 2 and 3

(c) 3 only

(d) 1 only

54.

20

Consider the following statements relating

to the Bhakti Movement :

1. The Bhakti and Suft Saints gradually
brought about a better understanding
of the fundamental tenets of Hinduism
and Islam, underlining the fact that
they had a great deal of similarity.

2. The Bhakti and Sufi Saints also
brought about important changes in
the approach to religion, laying greater
emphasis on formal observances and
rituals.

3. They also contributed to the growth
of regional languages and literature.

Which of the statements given above

is/are mot correct ?7

(a) 1 and 2

(b) 2 only

(¢) 2 and 3

(d) 3 only

Consider the following observations
relating to the reign of the Mughal Emperor
Akbar :

1.  Akbar strengthened his control on the
nobility and the army by introducing
the mansabdari system.

2. Under the mansabdari system, every
officer was assigned a rank {mansab).

3. The ranks were divided into three :
zat, sawar and chehra.

Which of the above statements is/are
correct 7

(a)
(b)
(¢)
(@

1 only
2 only
1 and 2
1 and 3

(Contd.)
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51. Jufraeh @ & 39 & wifdey @ faew
¥ Preafufam Fot xR 9T
1. g wem (Ree @Ran) ¥ 2w @
Rt smit § wY O UsgaRd
R @ ¥ Ruw Rt @ RR
Eito el AR C o
2, fofew o IR wEE A wsgard)
% IAEAT BT W W A
'3, FAfgeR 9w e (1878) 3 i
U Y oo 3 ofwaw @ fdg &
| L ceam®t sides & e famm
IE ¥ A DA/ v wd 2F 2
‘a) 19T 3
(b) 23 3
(c) #ad 2
(dy 13T 2 _ .
52 Preiie @t T R SR
1. @ a1 ¥ oo, qiifees
M @ A wrdm e Q)R
W IAM UG AUR B PRl B w9 A
i

2, Sufasht @ ¥ IO @ AU $
W Pz Rl oo & am=

© T g

3 T OWUR R A oAl F IR
Wi e @R e wieda wrdm,
frafanit @ gAHd F dRa AR
g f&ar

SuF U1 A ¥ drFER wd

/8 7 ’

(a) 13 2

(b) 23X 3

(c) Had 3

d) Bad 1

53. Wi R & gag § Preatifas sua
1 fE fafm

1. e sk g &a@f 3 dR 9R fergm
g TEH # Yoy RrEral Y Qs
TA I AN AR IW T W |
e &% 3% @gg s 2

2. R MR gw §9, gufrw R
A Al R NEFT AoF A
T gy, o F Ry gRewr F weeael
TRedw +fr ww

3. I3 eeftlm o @ mifecm A
wafa A f duem R

TufF ¥ ¥ wEE/R FuT @l T

B/8 7

(a) 13X 2

(b) FaA 2

(c) 23N 3

(d) ®ad 3

. T T FEeaT & OH F dEyg o

frr=fafae 9o o R Ik
1. IFHaT F WAGSET) UIERAT  ATHC
-t SR 7T 9T AT FArwee

e o

2. TAEEQIY TWEET % add  dsd
Fferd At ww g (wewe) frad
A 7 '

3. St 1 We, g iR WA, =
= Atw # Rwia Bomn

SWE # ¥ FAE/A FUT W 8/8 7

(a) &Fa 1

(b) daa 2

(c) 132

@ 133

(Contd.)
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33.

56.

57.

Which among the following was nof a
demand of Mahatma Gandhi to the
Government as a condition of settlement
before he launched the Non-cooperation
movement 7

(a) The Government should withdraw the
Rowlatt Act

(b) The Government should express
regret for the massacre at Jallianwala
Bagh

(¢c) The British government should
behave leniently with Turkey

(d) The Government should put a better

scheme of reforms than that of the
Act of 1919

The ‘Motorana’ and the ‘hathiana’ referred

to :

(a) markets where peasants brought their
produce

(b) taxes levied by zamindars on their
peasants

(c) rent paid by peasants for the use of
the motorcar or the elephant of the
zamindar

(d) the nickname for those zamindars
who possessed a motorcar or an
elephant

Which of the following ideas was/were
shared by Raja Rammohan Roy and
Rabindranath Tagore ?

(a) Internationalism
(b) Opposition to idol worship

(c¢) Faith in rational and scientific
approach

(d) All the above

NDI-NATIONAL DEFENCE INSTITUTE
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58.

59.

60,

The Hindustan Republican Association was
founded to :

(a) Set up a republican government in

Hindustan
(b) Organize armed rebellion in India

(¢) Persuade the Indian people to
participate in elections

(d) Encourage the Indian youth on to the
path of socialism

Consider the following statements about

Indian trade and commerce in the medieval

period :

1. India exported cotton piece goods to
the wider world in the medieval period.

2. India received gold and silver from
the wider world in lieu of her cotton
goods.

3. India also supplied raw materials to
the European industries in the
medieval period.

Which of the statements given above
is/are correct ?

(a) 1 and 2

(b) 1 only

(c) 2 and 3

(d) 3 only

Which of the following statements about
Bhadrabahu is/are correct 7

1. He was a Jain Saint.

2.  He was spiritual teacher of Chandragupta
Maurya.

Select the correct answer using the code
given below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

(Contd.)




55.

56.

freaffas & @ v, "o midh &
IFEUNT R TRFA 1 ¥ qd queia
U B TN TER T A/ E A T
gy 7

(a) ¥R Az e amg @

(b) R Sfergiaren & geuThis & Rl
e R HR

(c) Wfew @R gl (Turkey) ® &M™
JIRATYAF AT

(d) &R 1919 % e & gad &N
YT JsAT FAX F AT T
3

‘Wear M Fmmr Hy fHffe =)

g

(@) ¥ IR Tl fhaE omA 9w W
)

(b)) EER g s PR R e

™ FY

\(c) TTHIGTE Y AYEXHT a1 BrelY &1 IuhhT
FE &+ oy wmEY gro Rwm omm
Uik

(d) HITTHT A1 EE WA A getErd
B U

57.?@1?@3?#&1:&@??1&?#‘11

Preafefen & @ a9 a/iat @
wewrlt & 7

(a)SI'HTfB?ﬁﬂﬁT

by R~ =1 g

(c) frs @ e gRewor # fawam
@) e af

23
0

58. Rvgmm Rufeas wafrge Bl amd-

59.

60.

DERE-

(a) R # iz gL Y =AY
3 o

(b) wa # wyrA Rwa gufed s &
o

(c) W @t | Frafe=r § um a3
2 AT @ o

(d) v FoEE w1 ogEeERe #@ @
o gieEmed v 3 Rl

TEFNT YR R o Tt # an

¥ freffen suat o Rem R0

1. wow™ # 9Ra fAgg § qU-gX 9%
il = w1 A Prafa war o9

2. 9@ Reg § - 8 s gt A
P gl H T T A YT FIam
v |

3. Wemd H ARG gIdE 3@ @
ded A w1 gfd ft wREr o

Sudd FuAl A | /Y wh 8E 7

(a) 13T 2

(b) Fad 1

(c) 233

(d) Haa 3

Prefofem & fTa/8 $u7 wEg P

TR R wd 2/8 7

1. ¥ 997 @9 &

2. 7 dHg< Hd F emicRs e A |

T Re g e &1 v W G I

gfau .

(a) Fad

(b) Faw 2

(c) 13T 2 oA

@ TF@F 1T EH 2

{Contd.)
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61.

62.

63.

In Buddhist principle, the performance of
Sita and the achievement of Samadhi and
Prajna lead to Nirvana. What does this
Sila
(a)
(b)
(c)
(d)

Agnimitra, the hero of Kalidasa’s

stand for ?

Mental control
Physical control
Development of insight

Strict penance

Malavikagnimitra belonged to :
(a)
(b)
(c)
(d)

Ministry

Sunga dynasty
Kanva dynasty
Satvahana dynasty

Gupta dynasty

and Child
Development adopted the Mission

of Women

statement of ‘Budgeting for Gender

Equality’ in 2004-05. In this context which

of the following statement/statements is/

are correct ?

1. It calls for incorporating a gender
perspective at all levels and stages
of the budgetary process.

2. It stands for providing safe shelter
to displaced women.

Select the correct answer using the code

given below :

(a)

(b) 2 only

(¢) Both 1 and 2

(d) Neither 1 nor 2

1 only

65.

The National Legal Services Authority
(NALSA) has been constituted under the
Legal Services Authorities Act, 1987. In
this context which of the following
statements is not correct ?

(a) Hon’ble Chief Justice of Supreme
Court is the Executive Chairman of
the Authority

Its objective is to provide free and
competent legal services to the weaker
sections of the society on the basis
of equal opportunity

It issues guidelines for the State Legal
Services Authorities to implement the
iegal programmes and schemes
throughout the country _
To organize Lok Adalats for amicable
settlement of disputes

(b}

(c)

(d)

Match List-I with List-II and select the
correct answer using the code given
below :

List-1 List-11
(Commission) (Issue)
A. Dar Commission 1. Assassination of
Indira Gandhi
B. Kalelkar 2. Ragging in
Commission educational
institutions
C. Thakkar 3. Demand for
Commission Linguistic States
4. Backward
Classes
Code :
A B C
@& 3 4 1
(b) 3 2 4
1 2 4
a1 4 2
(Contd.)
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61.

Ne-frerw & agar e & sgawer
I iy g g oW gk & Frafo
g grar 81 @l fer & ww afwm

2
. (a) AMRE PrEw

(b) TiORE s

{
(c) FFagRe &1 faww

!(d) BT qUR

62. FhEE R AERERRE A

63.

Fftafa g woEw & w7

(@ 7 TEw

(b) Fva ToEE

(¢) Taawd TwEd

@) T T

HRew @ 9 fem HJaem ¥ ad 2004-05

¥ Riv gumar & W sweq’ &1 fwE

FI9 JTTE | 3@ 6T A PR Faei

¥ § HEE/S Gl 28 7

1. =® R auweT wfrw @ o w3
T wXol 9X fow weet @1 wWRw
AT 8 |

2. v faonfyg Afeensht w1 g amsm
[ F gHdT I 2

Y By T = WA e I g

(a) Fae 1

(b) @aa 2

(c) 13T 23T

(d @1 3T &2

64. T2 faftres @ar witeor (NALSA) Rfas

65.

Far wiftreor afafros, 19877 & sl

e fear w81 3w ded # Pl

¥ ¥ FHar Fug w8 & 2 7

(a) S=IOH Y F ATFAY J@I Rkt
W oyt 3 et seme

(b) THHT IIW AN B FASATC I P,
T @ ® FUR €, Frges 3
we faltes dad W= won 2

() T 3w ¥ Rftw wrfwd 7 deAEi
N FEi-ag w3 ® F T8 T
faftes q@1 Tt &t Rwnfade
W Far @

(d) fEel # dWergd fFoer 3 ke
AE AQIAT TG FHAT

-1 &7 FA-11 8 ghfea Mg s gfw

% 9 g 7o 5z F 9@ F GG I

9T
g1

i
(37417 (o)
A. T M 1. R meh =
— _
B. Fe®m @ 2, felw gearl
¥ Him
C. SFRC I 3. 9ag TS A
i
4. o3 af
T -
A B C
@) 3 4 1
) 3 2 4
) 1 2 4
@1 4 2
(Contd.)
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66. Which of the following provisions is/are

not directly covered in the definition of

Domestic violence under the ‘Protection

of Women from Domestic Violence Act,

2005’ ?

(a) Physical harm causing physical injury
or pain to women

(b) Mental injury such as emotional
abuse, insult, harassment, repeated
threats, demand for dowry, sexual
abuse etc,

(c) Non-sharing of house-hold work, non-
caring attitude for children, unhealthy
habits of living, late coming etc. (of
the male partner)

(d) Deprivation of economic or financial
resources

Which of the following movements address

both sociological and ecological issues ?

1. The Trade Union movements in post-
colonial India

2. Narmada Bachao Andolan

3. Jai Prakash Narain’s movement for
total revolution

4. Chilka Bachao Andolan

Select the correct answer using the code

given below :

(a) 1 and 3 only

(b) 2 and 4 only

(¢) 1, 2 and 3 only

(d) 1,2,3 and 4

Which of the following is nor a correct

description of the ‘zero hour’ ?

(a) The time allotted after the Question
Hour

(b} Question on issues of national
importance or serious grievances of
the people can be raised by members
of either House

(¢) Questions to be asked during zero
hour are circulated one day in advance
only

(d) The justification for its origin lies in
allowing for democratic discussion
beyond rules and procedures

69. Which of the following statements is not
correct ?

(a) Rajya Sabha can make recommendations
on a money bill

(b) Rajya Sabha can amend a money bill

(c) Rajya Sabha can delay the passing
of a money bill upto a maximum of
14 days

(d) Rajya Sabha cannot reject a money
bill

Which of the following statements are correct ?

The attorney general of India

1. must have the qualifications as that
required by a judge of the supreme
court.

2. enjoys the same privileges and
immunities as the members of
Parliament.

3. has the right of audience in all courts
of India.

4. his salaries and expenses are charged
on 'the Consolidated Fund of India.

Select the correct answer using the code
given below :

(a) 1,2 and 3

(b) 1 and 2 only

(¢) 3 and 4

(d) 2 and 4

. Who among the following Prime Ministers

of India never had to seek trust vote (vote
of confidence) from the Lok Sabha ?

(a) Indira Gandhi

(b) P.V. Narasimha Rao
(c) H.D, Devegowda
(d) Manmohan Singh

. The Parliament is entitled to enact a law

of preventive detention for reasons
connected with :

(a) defence

(b) foreign affairs
(c) security of India
(d) all the above

(Contd.)
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66. Freffem & & FFE/8 ITeEE, Hwi

fear @ afga=) &1 graw sfafm, 2005

F gf g B @ wewm & sl

Yyegerd: gieafeg 7EF 8/8 2

(a) TR ety Fad Rt 1 wrdif=
afy m NeT FRG &

(b) wHRE @it 9@ 5 ganews geaam,
O, IS, F-TR GFHT, oo

- (c) WX P F K g™ TE der, w4

67.

68.

H UR T 7 2 A afERy S
1 FEEREFT AEd, T F I AR
(qas1 il &)

. (d) stie @ R<frg gamat @ dfaa s

Preafofag o @ 198 sAeE TSI
ﬁtmﬁf?ﬂm?ﬁ—vﬁﬁqﬁ%m—aﬁ

e T SR
grgel wifa & forq smwsmr AR
HT AT
4, Trewr 9B SR
2 Ry 7 Hz w1 99 F wE IW
e :
(a) da@ 1 3T 3
(b) waw 2 X 4
(c) ®aa 1,2 3T 3
(d) 1,2, 33 4
Preafafea & & S8 Traee’ &1 w6
qufy T8 8 7
(a) yFH ® I FraiRa wma
(b) TN A A ff o wew & wedl

g 7
1. W—Gﬁﬂﬁwﬁﬂﬁf{(ﬁﬂaﬁﬁﬁ?
2.
3.

(@) W Igm w1 Mfved, B o7

69.

70.

71.

72.

freffed ¥ @ S s @@ R 7

(a) Tva-g9r g9 fagms ux Rl 2
e

(b) TSE-m« g fdws ¥ ¥WgT &3
LET i

(¢) Teg-vs1 o= fduF wiRa #3 A
;’fﬁmmﬁﬁmﬁaﬁmaﬁ

(d) TU-g g7 fAdwE 7 FEhFR 76

% gEdr B

Preafafeg & § 98 w7 w8 B 7
T §  HEFAEaK!

1. & IvudH OTed ® FgETEer gl
st Tmae ® T grmad
g =feu

%) §O¢ B gaell B A faPrenfEmi
T IR g eRlt )

B ARG B T e 7 g3 o

b

hat

ad & Feafafea & &
# oE-gar & Fwf of
HqOET 99T 7

(a) =R weh

(b) @& Re @
(c) THH. 3T
(d) w=AET s
el g8 o/, "wr, Prae iy @
ffy @ afutla v 3 ol e B 7
(a) &

(b)y Reh =wm

(c) WG ® I

(d) IHF &R

TN q GETTHAT
ﬁsmauaa‘eﬁ'

(Contd.)
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73.

74.

75.

76.

Who among the following Prime Ministers
of India has not presented the budget ?

(a) Jawaharlal Nehru
(b) Morarji Desai
(c¢) Indira Gandhi
(d) Rajeev Gandhi

Consider the following statements :

1. When the inflation decreases, but still
remains positive, it is deflation.

2. Deflation reduces the real value of
money over time.

3. Historically not all episodes of
deflation correspond with periods of
poor economic growth.

Which of the statements given above

1s/are correct ?

(a) 1,2 and 3

(b) 1 and 3 only

(c) 3 only

(d) 2 only

Which one of the following are advance
grants made by the House of People in
respect of the estimated expenditure for a
part of the ensuing financial year, pending
the regular passage of the budget ?

{a) Supplementary grants

(b) Special grants

(c) Vote on credit

(d) Vote on account

Who among the following was the
Chairman of the Committee on Financial
Sector Assessment (CFSA) set up by the
Government of India and the Reserve Bank
of India in 2006 to undertake a complete
health checkup of the country’s financial
sector ?

(a) Shri Ashok Chawla

(b) Shri Ashok Jha

(¢} Dr. Rakesh Mohan

{(d) Dr. D. Subbarao

77.

78.

79.

80.

Which one of the following causes rainfall
in the north-western parts of India during
Winter Season ?

(a)
{b)
(©)
(d)

Tidal range denotes the :

Cyclonic depression
Retreating monsoon
Western disturbances
South West monsoon

(a) rise of sea water and its movement
toward the coast

fall of sea water and its movement
toward the sea

(b)

rise and fall of sea water due to
gravitational forces

difference between high and low tide

(c)

(d)
Consider the following statements :

1. The Damuda series of rock system
contain all the metallurgical coal in
India.

2. Tamil Nadu is the chief producer of
lignite coal in India.

3. Tertiary coal is mainly confined to
the peninsular India.

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 and 3 only

(c) 1 and 2 only

(d) 1, 2 and 3

Which one of the following states of India
is surrounded by Bangladesh on three
sides ?

{a) Mizoram

(b)
(c)
(d)

Meghalaya
Tripura
West Bengal

(Contd.)
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F a9 Yo A w2 7
(a) SABEA ATE

(b)) WU
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77.

78.

79.

80.

Preafafaa & e ©F #ron @ ofasedE
Hod § A & IO-ulEs am ¥ oqul
Bt 2 7

(a) THATY HTTHAA

(b) Pradt arAga

(c) ThEeft fasdrs

(d) ef&or-uid=en =wEgA

SR gfEmy T difaq s g ?

() TR 9 w1 I 3T IEHT AT AN

AR Fwe

(b) THI o F U AT IqHT WAR
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(c) & A FT [&A™ TAl F HROT
JUTA -
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1. ARG H O gigEHa Higen fw 9
a1 T A9 A e 8

2. WA A Rpge @ v aferrg
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3. JdwE oo e yaedid qRa §
gffifim 8

SEfE FuAl # ¥ DA wh g2 7

(a) Fad 1

(b) Haw 23X 3

(c) Fa7 13X 2

(d 1,23 3

qg w1 el & § #1990 ™ U
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(a) P

(b) AT

(c) PrgT

(d) "R=EwR e
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81.

82.

83.

84.

85.

Through which one of the following continents,
do the equator, the tropic of cancer and
the tropic of capricorn pass through ?
{a) Africa

(b} South America

(¢} North America

(d) Australia

The laboratory from where carbon dioxide
measurements have been taken since 1958
A.D., which form the basis of present
global warming data base is :

(a) Maragheh observatory

(b) Mauna Loa observatory

(c) QGriffith observatory

(d) Sydney observatory

What happens to the soil, where soil water
freezes and it tends to form ice layers
parallel with the ground surface ?

(a) It heaves the soil upward in an uneven
manner

It heaves the soil downward in an
uneven manner

It heaves the soil both upward and
downward in an even manner

It remains unaffected

(b)
(c)

(d)
What happens to the water depth as the
Tsunami waves approach the coast ?
(a) Decreases

(b) Increases

(¢) Increases and decreases alternatively
(d) Neither increases nor decreases

Consider the following statements :

1. The Earth receives the Sun’s energy
at the infrared end of the spectrum.

2. The Earth re-radiates the Sun’s heat
as ultraviolet energy.

Which of the above statements is/are
correct ?

(a) ! only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

30
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86.

87.

88.

89.

90.

Which one of the following is a planetary
wind ?

(a) Monsoon
(b) Trade

(¢) Chincok
(d) Mistral

Which one of the following does not
control climate ?

(a) Latitude

(b) Altitude

(c) Longitude
(d) Forest cover

Which one of the following types of forests
cover the largest area in India ?

(a) Tropical dry deciduous

(b) Tropical moist deciduous

(¢) Tropical evergreen

(d) Himalayan moist temperate

‘A’ completes a work in 10 days, while
‘B’ and ‘C’ complete it in 12 and 15 days

respectively. In how many days can ‘A’,
‘B’ and ‘C’ together complete the work ?

(a) 3
(b) 4
) 3
(d) 6

Kamla got married 6 years ago. Today

1 )
her age is 12 times her age at the time

1

of marriage. Her son’s age is 0 times

her present age. What is her son’s age ?
(a) 2 years
(by 3 years
(c) 4 years
(d) 5 years

(Contd.)




.?ﬁ%ﬁﬁ#ﬁﬁm@,mm
?

(a) ATTHEA

(by =iiH

(¢) =

@ Prga
. qE FTHA ganremen 8, wef 1958 & @ e & ¥ Frear ATy
HfTSEaTaEs # mA g g ¥ @ 'mwﬂ%ﬁ? R Al
& T spveei a9 YTEE # s , '
T & ? (a) TR

(b) rar

(c) X@m

(d) TATESRA

. P ¥ @ wRaed $ wafite Rwa

gy H 5 @ R F 9 g

() ¥ I F FL F AR FEA THR
¥ IS FRar B

(b) ‘T8 [T F AR # AT FWH TR
¥ IeA9oT FEa B

(¢) TE I F I M AT A A
9 Ye ¥ IeHIU w8

(d) @7 ®IE FgEE AL B

. AT EY V9 9 & X I B, @@

A H METS I T YHE qgaT &7

. HAAT FT wet 6 99 qF gR | IS IEH

mmm%waﬁa@aﬂliﬁ
8| S€F A A AY IgH A A NG W

%gm%w%gaaﬁmgw%?

37 ,
mﬁﬁﬁﬁwﬁwﬁ/ﬁ. @ 2a¥
®) Fa 2 ® 33
(c) 13T 23 (c) 4o
(d T a1 3 T8 2 (d) 5 oot

31

[}

NDI-NATIONAL DEFENCE INSTITUTE




91.

92.

93.

94.

The number of times the hands of a watch
are at right angle between 4 p.m. to
10 pm. is :

(@) 6

(b) 9

(¢) 10

(d) 11

If Saturday falls four days after today which
is 6™ January, on which day did the first

of December of the previous year fall ?
(a)
(b)
(c)
(d)

‘R’ walks 1 km. to east and then he turns

Tuesday
Friday
Sunday
Monday

to south and walks 5 km. Again he turns
to east and walks 2 km. After this he turns
to north and walks 9 km. How far is he
from his starting point ?

(a) 3 km.

(b) 4 km.

() 5 km.

(d) 7 km.

If WOMAN is coded as 12345 and
SERVANT is coded as 6789450, then
VOTERS will be coded as :

(a) 920786
(b) 902876
(c) 978206
(d) 972086

95.

96.

91.

32

Which will be the next term in the

following ?
KPA, LQB, MRC, NSD,
(a) OET
(b) OTE
(c) TOE
(d) EOT

The missing number in the following table

---------

is :

14 | 7
31105117

(a) 12
(b)
(c)
(d)

The following blocks are of the same

20

material. Which is the heaviest one ?

() A
(b) B
(¢} C
(d) All equal

(Contd.)
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91.

92.

93.

94.

T A g q 4T A W@ 10T F
=7 fFat R gweo g sl 7

(a) 6

(b) 9

(c) 10

(d) 11

I TER &9, 6 9ad § 9 9 §©

gt 8, a9 fed af w R f9-2
R wgT or ?

(a) HWAAR

(c) ER
(d) IFER

RTE # 3 | &l =emm 2 & AR
TE TR N AT gee 5 B = @
g e @ AN A gew 2 AL =ea
2 WP qQ TF I W A YA
o frft. <o &1 95 I3 oA Reg d
Rt T WX # 7

(a) 3 &t

(b) 4 f5e

(c) 5Taf

d) 7 @&

FMT WOMAN # 12345 & &1 ¥ Frakd
f¥ar ST T SERVANT &1 6789450 &
&9 ¥ Frafea fFur sg, 9@ VOTERS
frg &y ¥ sedfe @ ?

(a) 920786

(b) 902876

(c) 978206

(d) 972086

95. Pr=fafaa ¥ smen W *r=er Bom 7

KPA, LQB, MRC, NSD, .........
(a) OET
(b) OTE
(¢) TOE
(d) EOT

96. feriarfe wrooh ¥ ga e s 8 7

11719
2114 | 2
31105117

@ 12
(b) 16
(c) 26
(d) 20

97. 9 RY M w & werd & @vg & | TIA

¥ gy W wrAar @ 7

12 em l cm 12 cm
i l ! oﬁn \l«
«—6 cm—> % "6 om
A B C
(a) A
(b) B
) C
(&) aft s &
(Contd.)
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98. From the following Venn diagram identify
the number of persons who are either good
speakers or post graduates or doctors.

GS P
A GS — Good speakers
AVA P — Post graduates

n D>  — Doctors
D

(a) 6

(b) 7

(¢) 15

(d) 22

99. A person moves along a circular path by

a distance equal to half the circumference
in a given time. The ratio of his average
speed to his average velocity is :

(a) 05

(b) 0-5n

(c) 0:75n

(d) 1-0

100.

A square is drawn inside the circle as
shown in the figure above. If the aréa of
the shaded portion is 32/7 units then the
radius of the circle is :

(@) /2 units
(b) 2 units
(c) 3 units
(d) 4 units

101. The following figure shows the dis-
placement time (x—t) graph of a body in
motion. The ratio of the speed in first
second and that in next two seconds is :

TBO

x 20

10
o 1 2 3
‘I‘—'b

(@ 1:2
by 1:3
(c) 3:1
@ 2:1

102. The below Venn diagram shows a city

population which read three popular daily
newspapers Hindustan Times (HT), The
Times of India (TI) and Navbharat
Times (NT) :

City Population

HT TI

&yl

NT

If a person is randomly selected from the
city population and it ts found that he
reads at least one of the three newspapers
then the person belongs to which part of
the population ?

(@) g

(b) a+b+c

(c) P-h

(d) P-g

(Contd.)
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98, Y RA M I @ F ¥ T v

99,

100.

® OFEw w2 W W W IR T, ;W
EHRITE A7 Sidel & 7

GS

P
A GS — 3I=3 FFI
P — #@RRIT

‘vh D — ST
‘D ‘

(@) 6

(b) 7

() 15

@ 22

#¢ A oF I<iw g W oIwat uRkfy

F ;Y 90T F TR g0 & e wwy
¥ au Fa 2 399 e Ay SR e
A H FIIE FW BN 7

(a) 05

(b) 0-5n

(c) 075z

d 10

&t g9 & seT w A AT MW @
dar F Fux o § Remr ™ &) 3
ST 9 w1 SABT 32/7 THEA B, §«
ga # Brewm w8 ?

(a) 2 wF=E
(b) 2 HI=AT
(c) 3 Il
(d) 4 Tl

NDI-NATIONAL DEFéNCE INSTITUTE

101.

102,

& el asg &1 fems @m (x—t1)
| 2 Re g i ¥ fremn w2
IAH YH9 dFS A AR aar A < IFS)
¥ wfe =1 gy w| oEnm ?

TBO.
X 20
10

o 1 2 3

—t—‘b
(a 1:2
() 1:3
(c) 3:1
d 2:1

o Rar mar Iw-aw fedt gme W
SadEn qufar 2 W 9 ety e
AR 97 @R g (HT), evw
I AT (TI) M A9 e57a@ (NT)
T B o:

L AT

&Y

NT

I B ol 51 mwh J99em A §
gl o= & s @ iR @B 9
ot 8 & g8 af 57 @9 waa o=@y
¥ ¥ FHF F9 T GAER 99 Jedl 2
9 a5 WEg TEe B 5§ 9m #
g7

(a) g

(b) a+b+c¢
(c) P-h
(d) P-g




103.

104.

4] 00 * (0 00 A
X
X X X
— X H X |— x| 1 X

Which is the next figure in the sequence
given above ?

@ I, 5
X
- x
® [o
1 ) 4
(c) 0
(d) |o
- x

Consider the following :

1. Every square is a rectangle.

2. Every rectangle is a parallelogram.

3. Every parallelogram is not necessarily
a square.

Which one of the following conclusions

can be drawn on the basis of the above

statements ?

(a) All parallelograms are either squares

or rectangles.

A non-parallelogram figures cannot

be either a square or a rectangle.

(c) All rectangles are either squares or
parallelograms.

(d) Squares and rectangles are the only
parallelograms.

(b)

36

expenditure/month (in Rs.)

105. Distribution of work hours in a factory is

shown in the below given table :

Number of Number of
workers hours worked
20 45—50
15 40—44
25 35—39
16 30—34
04 00—29

What is the percentage of workers worked
for 40 or more hours ?7

(a) 40
(by 25
(c) 3333
d) 43-75

o C
B

7]

3000 4000 6000

——

v

10,000

income/month (in Rs.)
From the above graph, who out of the
four persons A, B, C and D, saves the
least percentage of his monthly income ?

(@) A
(b) B
(c) C
d D

(Contd.)
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103.

00 *|0 00 A
X

X X X
x|1 X |- xtl1 X

FR Ru 7u erEE A smren R #tAan

2?7

. @

(b)

(©

@

Mo

F ]

X
X

'104, Prefafee w fm kg

1.
2.
3.

wers T uw sEd g

YT AT UF FEORX agdd 2
TS AL FgUd SEwe A8
it 8

I FuA & IR W il ® |
P o e P s owwar & 7

(a)
(b)

(©)

(d).

et gataT g o1 @ af € Fear
AT

gEwtay agds o o swar @
T8 @ |

v g W @ T € IwEr §Eial
=g

Ff qm smm @ dae i TP @
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105. 7% %5y & I ww F1 fwer AR
groof ¥ Rar mr 2
sfaEy @ FE g My ey

Eirc ) T HEAT
20 45—50
15 40—44
25 35—39
16 30—34
04 00—29
40 o1 I8 It w2 FE g A &
w1 gfowg 8 7
(a) 40
(b) 25
(c) 3333
(d) 43-75
106. 4
7000 1
# 6000 |
E’/T 5000 1
4000 1 D
E 3000 ¢ C
2000 } m B R

3000 4000 6000 10,000

IG/AE (B H)
FuT fRw wo Ine@ W, 9K Wil A, B,
CiX D & H7Wm = v A+
AT F FAGA IR FEd FIA@T 8?7
(a) A
(b) B
(c C
(d D
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107.

108.

10/6 4| 2

AN

In the above diagram square represents

boys, circle represents the tall persons,
triangle represents tennis players, and
rectangle represents the swimmers. Which
one of the following numbers represents
tall boys who are swimmers, but don’t

play tennis ?

(a) 4
(b) 3
(c) 6
(d 5
3m
=
~
E Im
Im
E
& o~
h im

The carpet area of 2 room with dimensions

shown in the above diagram is :
(a) 10 m?
(b) 12 m?
(c) 13 m?
(d) 14 m?

109.

110.

111.

D C

6 —

In the figure given above BAC = 90°,
EA =2 and AC = 6. What is the value of
BE 7

(a) 2

(b) 4

(c) 6

(d) 10

8 oranges cost as much as 5 apples,
5 apples as much as 3 mangoes, 4 mangoes
as much as 8 pineapples. If 3 pineapples
cost Rs. 36, then an orange’s cost is :

(a) Rs. 9
(b) Rs. 12
(¢) Rs. 6
(d) Rs. 15

If a @ b is defined as a® + b?, then
consider :

I 2&x=100
II 4& x =145
O 3® x = 145
IV 6@ x =100
For which of the above, is x smallest ?
(a) 1
(b) I
(c)y I
(d) 1v

(Contd.)
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3m

2m

g

S f ¥ Bl e A Red 1
TFE-AISTE F FUT FARA o § 7

(@ 10m?
(b) 12 m?
(c) 13 m?
(d) 14 m?

39

o

110.

111,

I R g = ¥ BAC = 90°, EA =2
M AC=6 81 BE® AT a1 2 ?
(a) 2

(by 4

() 6

(dy 10 .

8 oWl H1 & 5 A T NG B FET
2, SUS F Ara 3 FW A AU B
TUET 8, 4 A F A 8 FFEATR A
A % FU9C B 3 3 FFAEATE H
AMT 36%. B, 09 Th qd¢ ) JOd F
g
(a)
(b)

9 %
12 &
() 6%
(d) 15 %
I a@ bH a*+b* & &7 ¥ yfownfem
fear wmn 2, 99 faae R .
I 2&x=100
II 4@ x =145
M 3&x =145
IV 6@&x=100
Suie H frws frg, x 998 et 2 7
(@) 1
(b) I
(c) I
@ IV

{Contd.)
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112.

113.

114.

In a test a candidatc attempted only
15 questions and secured fuil marks in
all of them. If he obtained 60% marks in
the test and all the questions in the test
carried equal marks, the number of

questions in the test is :

(a) 20

(b 25

(c) 27

d 30

The grandfather’s age is 4 years more than
nine times the age of the grandson. The
father’s age of 40 years is 2 years less

than six times the age of his son. The age

of the grandfather is :

(a) 77 years

(b) 70 years

(c) 67 years

(d) 63 years

If 4 = 10> and 9 = 10%, then 0-15 equals
to :
(a)
(b)
(c)
(d)

L gm0
Qg
1Qrm
10!

115.

116.

117.

Among the following four diagrams, which
one illustrates the relationships among
citizens, voters and males ?

(a)@ O

(b)

- @

o O

The mean age of combined group of men
and women is 25 years. If the mean age
of group of men is 26 and that of group
of women is 21, then percentage of men
and women in the group respectively is :
(a) 60, 40
(b) 80, 20
(c) 30, 70
(d) 50, 50

Which two figures out of the following four
have the same area (with same units) ?

14 T

22
1 2

22
3 4
1 and 3
1 and 2
2 and 4
1 and 4

(d)

(a)
(b)
(c)
(d)

(Contd.)
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112. v sadf A feft whao § w7 15 yoA

113.

114.

& R yow gt qar I g ¥ Q@ oSS
g BFg ) o IER wdew #§ 60% 3%
T By i el ywEl @ o T @
& whEw ¥ ge A wen ww & 0
(a) 20

{(b) 25

27

30

N oag M AW g F AN AR
43 wftrs 8\ frr # 40 3 Y g A
A F T YA A 23 FA BT
F oImg T8 7

(@) 77 a

(b) 70 Tt

(c) 67 T

(d) 63 ast

IR 4= 10" 3R 9 =10%, 79 0-15 e
qOET B 7

(@) 1022

(b) 10™!

(c) 10~

(d) 10~

41

1]

115.

116.

117.

Y Ry M AR aE # |, A @,
T, waETEns AT gEs B S g
H TqSC HLEAT & ¢

@ O

gt o feadl & €ga §g @ A
g 25 a9 &1 AT YEN D G H A
g 26 ¥ Fadi & @y F: wer Ay 21
2 O wE ¥ wAw: e M Rea a
wiem w0 8 7

(a) 60, 40

(b) 80, 20

(c) 30, 70

(d) 50, 50

Hr By g wR smE ¥ ¥ R Qs

(@ 13 3
(b) 13T 2
(c) 23T 4
(d) 13T 4
(Contd.)
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118.

Three circles are concentric as in the
diagram given below. If a fourth innermost
circle is drawn, what will be the number

to be inscribed there ?

1
1
N
13
18
169
324
(a) 8
(b 7
(c) 3
(d 1
119. The width of a rectangle is 4x which is

only 25% of its length. What are the area
and the perimeter of the rectangle
respectively ?

(a)
(b) 20x? squnit and 40x unit

16x? squnit and 16x unit

(c) 32x? squnit and 64x unit
(d) 64x2 squnit and 40x unit

42

°

120. The following diagram shows a triangle
with each of its sides produced both
ways :

6 3
/s 4\
What is the sum of degree measures of
the angles numbered ?
(a) 720
(b) 540
(c) 1080
(d) %00

Directions : Each of the next FIVE (05) items
consists of two statements, one labelled as the
‘Assertion (A)’ and the other as ‘Reason (R)’.
You are to examine these two statements
carefully and select the answers to these items
using the codes given below :

Codes :

(a) Both A and R are individually true and
R is the correct explanation of A

(b) Both A and R are individually true but R
is not the correct explanation of A

(c) A is true but R is false
(d) A is false but R is true

121. Assertion (A): Import of Chinese toys
was recently banned by
the Government of India.

: The plastic material used
to make the toys are not
biodegradable.

Reason (R)

{Contd.)
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118. 19 few g R’ & d9 g &= &)

I FE =gd Iaad g9 Teitea B
T 8, @ 99 UX sAd g g #
wraft ?

)

KJ,I

18
324

(a)
(b)
(c)
@ 1

W~ e

119. 7% s ) 9IS 4x 8 W I§H a1

F BAA 25% 8| IET B HATART N
i wAE F 2 ?

(@) 16x2af T AT 16x =R

(b!) 20x? 31 P 3T 40x T

(c) 32x* i THFIR M 64x THIR

(d? 64x2 Tt THE MY 40x TFH

120.5% fem wr fom & Pagw cwiar 2

1 2

6 \ 3
/s 4\
geaifha Fo & f3ft o 1 9w o g 7
(a) 720
(b) 540
(c) 1080
(d) 900

A -

121.

I g (5) yEiet A N TFEA B OF
F FAF (A) T gEL B BFRO (R)' T8I
TR ™ JE gFl # wEuriigEs
Teter Y 3 yeAEn 1 Ik A Ry gu
FE A WEEA ¥ G ¢

7

(a) AT RN & §, M R, AaT

el T B

(b) AT RIM §& 8, g R, AF
wa waodtemu FEF 8

(c) Aué 8 wg R 7o 8

(d) AT B, W] R¥dr 2

N TG F IWw 9T
ARG @R @0 8 H
yfem=g emmEr |

faeltt =1 T ® wam
& o guew wed da-
frefrefn 78 €1

HUT (A)

FOT (R) :

(Contd.)
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122. Assertion (A) :

Reason (R)

123. Assertion (A):

Reason (R)

A person suffering from
myopia uses a concave
lens.

A concave lens diverges
a beam of light incident
on it.

The “Green Belt”
represents a planning
concept for controlling
the physical expansion of

large cities.

“Green Belt” is an
integral component of a
city.

124. Assertion (A) :

Reason (R)

125. Assertion (A):

Reason (R)

NDI-NATIONAL DEFENCE INSTITUTE

In areas of intensive
subsistence agriculture,
animal husbandry plays
an insignificant role.

Throughout the region,
the farmers are
handicapped in raising
cattle due to lack of
scientific methods of
breeding,

Nitrogen gas is used to
provide inert atmosphere
in chemical reaction.

Nitrogen gas has a very
little chemical reactivity
at ordinary temperature.




122.F99 (A) :

" FRY (R)

123. %97 (A)

FRI (R) :

w i Wt Pee gfe
(FmfmT) & 9T 2 sraaw
A= FT YA w2

T A= AT FIL Iafad
fFor g # swEia
21 '
“eRa wg1" (f7 Iee) =3
Tl & e fram #
TP ® e QAT GheqT
F1 frefm @ 24

“gfa wgl” (fF ) M
F7 AfER gew 2|

45

124. %95 (A) :

FT (R) :

125. %99 (A) :

F (R)

e frafe IR &R A,
QT B AI0G SfEFT 8 |
&AW, FUH, AWAH
v RS & evmE &
FRO, AT F SrEEh
F WHAT 9 B

Tagfae FRRear ® b
FEE 3 P g TR
g &1 ganr fea o 2

IEeT qIOHTE 93 AT ST
g = Taufs s
Fgd & FA Bl g
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SPACE FOR ROUGH WORK
Fea g & o

46
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SPACE FOR ROUGH WORK
F=a HA * o
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T TF FIAHT qE T JRawT @i T FET ¢ a9 aF 7 @rd ]

A : P-DQG-J-HB wleror giasr w3 w

T Araar wd ghewsn

(77 : @ w2 | (gwfa;: 250)

1.

 d

TR
e WO AN 3 o e, A9 3@ qdewr gReer Y usare dawm s o o owad
¥ fmr B, weT @ gRT T TS R9Er yEnw ok T 8| af vt ®, @ ™ wd
Theror giasr ¥ sea Ay
IA-TFF W 9 W 9T 9dEor gREH FFE A, B, Cor D aniEt we w1 ¥ g flng |
@ whew giaer ) g F R g Fres A smust }

%Wmélﬁmmwm@
7 |

T vl giae A 125 weiw (Ye) Ru M
2 v@F e ¥ AR wegae (IwR) Ru g ; IS ES ;
ITe-wae o SfF wE wmd £ AR e Y@ e R ouw ¥ ey @@ €, @ 9§
TgOT A T FX SN SR @@fm ) T gee @ R dew o @ WegEX I #
IR 3G T WgTR I ¥ R e Itewe ) & AT w1 B St | Ry e e e
oft yaaie @ aiF W

Q@ v B g qhen gRaer & AT el @ wege STR-wEs X i S
FY, AOH YA TAN-TH F G IR IR F FTER Fo fFEer - § 3 2
I YT T gAY B IA-IAF F A P T GG TN F GHOT T PAA IA-TAF
gfieF 1 A9 T FyR J9 g ThEe gRaw o W= oW a2

=y FM F R ww wdeor gRawt < A "o &)

£2F
:
13
%
g
'
g

. T Iad & g wew .

ye-Tar ¥ Iefiear g0 g e em 39 @ fom g fRar s

(i) wOF weq B fu 9R dofuw IR ¥ IHiREaR g wils g & g R e ww e
SR # R g By P fu o osiwt w1 ow-Rerg (0-33) 39 9§ wer s

(i) R *1E Iufigare oF ¥ of IO @1 2, @ W TEd Iw "Wl wm, el R
T IT0 A ¥ uF I ) g B, fRe of 3w v @ frg Sudsarer € S awE
F1 guvs femr <mam

(iii) o I=iga gra 1 yem g A fRw osnar 2 ewiq SefeER g IR AE R
o 8, @Y 9§ 9 & g #F zve e Rw Smom

|

TT TF AIPT TE TERT YRAFT @rIT FIT T FE W 9 qaF T @A ]

Note : English version of the instructions is printed on the front cover of this Booklet.
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